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1. Answer the following questions (any ten) :
1x10=10

Oeq AiRd Oed il (R it w=ht)
(a) What is the problem of ‘choice’?
‘ofg ' AP 62

(b) Distinguish between a firm and an
industry.

G5! oAfSD e bt See] WiEe ey My
sl

(c) Mention one feature of capitalism.

Afeaing 9ol Caigy O F |

(d) State one feature of economic goods.

wifos ANIPTRY @b @FE) S F41 |
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(e) What is cross demand?

fofe vizm 52

(f) Write the demand function.
oifRnl F==ee! forai |

(g9 What are complementary goods?
Afe7e AN 592

(h) Draw the demand curve of Giffen goods.

forees ANAPTYRI oifRicadl Swa 41 |

(i) What is the shape of perfectly inelastic
supply curve?

oo SFFSRIAT @IIMEAR SFis 52
) What is producers’ surplus?
AP ©76 57

(k) Define opportunity sets.
e AZfex ik |

() What is income consumption curve?
= SHTSl @ 69

(m) Mention the concept of market demand.

ISR BRI 4R Sty F¥41 |

(n) Distinguish between stock and supply.
TGS HF @IS oo Ny Ay 341 |

(o) Define imperfect competition.

oy aAfsrifareia szt vl |
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(r) What is derived demand?
Sgo ol 52

(q) State one character of labour market.
Y9 G199 bl ([P S F4 |

(r) What is meant by property rights?
T=ofeq w32 fo q@a?

2. Answer the following questions in short
(any five) : 2x5=10
o APTYRY ©Y ©ed il (R coien #Aisbt) -

(a) Distinguish between positive economics
and normative economics.

fsqve e wie Hifas wdAfss Jere
sAfiefe fafy a1

(b) What is economic problem?

gftafes T 692

(c) Write any two features of basic
competitive model.

e dfewifiegee wiRs R @i ot
ey et

(d) Why is the cross elasticity of demand
for substitute goods always positive and
negative for complementary goods?

iz e fefogierel 8 smim Res ANae
(PO FNE WF ARET ANAR cvae
YT 2?7
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(e) If price elasticity of demand for milk is

equal to unity (=1) and if at the price
of ¥40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥ 60
per litre?
i SRR GifewR v oot gq 9 =1
i I afs o s 7" 40 Bl @ArS
«b! ~fqEEEs 40 bR SR oifent =1, o
ofs FIoR ST wW 60 T T SN
sifgwi <=l o9 239

(/ Why do two indifference curves not
intersect each other?

oie Harre @R 51 A0 @n 99|
(g9 Why is the supply curve of labour

upward sloping?

N @S @ 7 ST =2

(h) Distinguish between fixed and variable
costs.

¥ wiF fesma e i Ay w4t

() Mention two government policies to
enhance competition in the market.

IGS Aforifaret Ifa S 71 701 I IS
Sy 341

() Why do input demand curves shift to
the left?

TR St @<l 5y AsTIE TR 20?2
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3. Answer the following questions (any four) :

5x4=20

g e e il (| @it BifEnt)

(@)

(b)

(c)

(d)

(e)

A23/447

What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
T e 57 @ TSR (@EME I@IA
ST Aol f[(BE FE, [ T4

How does the profit motive drive the
market system? Discuss. S

ASqd SRR PEME JS RS SifbifeTs
IE? AIEDA 4 |

Explain the characteristics of a mixed
economy. S

fipr i ez gt 4|

What is price mechanism? How does

price mechanism allocate resources?
: 1+4=5

a dfen 97 w3 AfERil @erwmE Temd
freqq @2

What is budget line? How do changes
in income and prices affect the budget
line? Use diagrams. 1+2+2=5

s @4l 592 S F w91 ARRSE @EmE
et @A Aol 32 foa Iz I3
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()  Show that a monopolist always operates
on the elastic part of the demand curve.

Why? 3+2=5
CT4Sq @ GIOOA PN a& bifgar @<=
Efogee Sbrs Awle S| o2

(g) Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
T JH HF AIfET T qore A4S 2l B4l |
AfEF JW @AR T I @F Y ©eq o[l

1 FI?

(h) Explain the various factors determining
the demand for labour. S

g ol fdiea za R[Rfss seemz o
41 |

4. Answer the following questions (any four) :
10x4=40

Teq 2MEIEE oed (R @it sifvn)

(@) What are the fundamental economic
problems of an economy? How can
various economic problems be explained

through the use of production possibility
curve? 4+6=10

Q3 FARST Afere wftafess Pz 6 62
fifea weftafes TPz Seeme A8l
@mﬂm@mww'ﬁﬁ?
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(b) How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain. 10

AT 578 WIF (SIFH T76d FTS TN
wpeld 9w WitR? Il F40|

(c) Explain the various factors determining
individual and market demand. 10

Ffeas oiftw o @ o AdRemR
(Il 4|

(d) What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
sifses Reie 52 & 5% (o “rafoq =TS
dfors fRelIeq 4I9ee! it =3 |

(e) Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 10
s @4l ReEeR T2ITe SIe T '™

Al g 4 |

() Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

I T TT @AR AFS APEE A
Y @A WZA F4 | AP e A @

U-Sigfed @RI PRPRR |
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(g) Explain the behaviour of a profit maxi-
mizing firm in the short-run. 10

ZEIA TES Q¥ A A Afovi
53 Gyt w4 |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

GFOIOA TP g S99 eyl Sl
1 geotn e fEgTe  e-Ra@
CHREIE 6 ShEl w2

(i) Describe the various applications of
elasticity of demand in economics. 10

yidifes bifTne Bfogereor [feg e
3941 4t |

() Explain how wages are determined in a
competitive labour market. 10

do@oETe =g INT© TN FENE
frdifes =, it

* & K
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